
 
TRIG IDENTITIES, PART 1 

TRIGONOMETRIC IDENTITIES: INTEL NOTES 

Reciprocal and Quotient Identities 
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Pythagorean Identities 

• 2 2sin cos 1θ θ+ =  

• 2 2tan 1 secθ θ+ =  

• 2 21 cot cscθ θ+ =  

 

Simplifying Expressions 

Simplify each expression. Hint: Rewrite the expression using sine and/or cosine. 
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TRIG IDENTITIES, PART 1 

Verifying Trigonometric Identities 

Verifying an identity is proving that one side actually equals the other side. This is done by 
algebraically manipulating one side of the equation, often using identities, until it equals the 
other side. Hint: Start with the scariest-looking side. 

Verify the following identity. 
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